310
150.5
130.5
2680 310 90
250 (1090 (1090 250 280 o |
73Ry 7R ‘ == A ] f@@w ]
8 S ’ -
BT : A | :
— Ql — 1 Wi Lo
D = ok LT \\Ei\g@”’f/ LN )
= A = &y
(294 —— -
1 I=
Y4 KT Iy b ‘ Y4 KT Iy b
- _10.7 27
120.7
%7]7 I~
o0
§ N £8A-A(S=1/4)
~
2092
) Y WAENES K74+ (WG103) B
FYYIVTPIN AT E—X (BS101D fh &k &
A7)=vyhH—=2RA yyrbYy=-5-2
‘ 1220 % B FYY3IVYT7Iy A b
] = = 24 .9kg
7WIKy 7R AL—268X
v 78 # % | RoHSHIS® /VOCH %S
TR AN TEGEFTHO 2T, oo Ben TR
HaLH IR #R B DATE L)
] — - g 1
QS PRNBRIN=—TL X | =8 mgngas0-v BtLsvav(7hify 73ty +)| SMB—090HF— A3 Y20 | mm |2010/12| BRTHED




